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101 @14 dl 167,222 164,652 2,570

01 2= 31,399 30,399 1,000
OGEH A2LA2 2L (20A124)

Z & 31,399,000 31,399 30,399 1,000

03 RIHAZ 22 135,823 134,253 1,570

OsZ0IsH&(2Y) 100,301 98,731 1,570
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01 AF2 22l 24,054 23,934 120

O Al 2 & 60,0008 * 2F * 115¢ 13,800 13,680 120
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301 Yt Az 84,872 84,822 50
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olA2UH|(BAH) 118,941 117,886 1,055
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~OAT}E| & 100,000 * 1074 1,000 0 1,000
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O=E2 OIS0t M I ZH(1,800m)
23 31,900,000 31,900 27,000 4,900
OAHE i FHI(100m) 23 11,850,000 11,850 13,000 A1,150
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O21 ==z ZZ(80m) 23 16,200,000 16,200 14,000 2,200
OMEH 428 L S22 ZF(100m)
A 14,100,000 14,100 15,000 A900
O =23 X(60m) 23 0 0 1,000 1,000
Oulg 42 FHl(80m) A 14,600,000 14,600 17,000 A2,400
O&2t =2 I & (240m) AA 29,400,000 29,400 30,000 2600
OWEl Hi4=2 =l (80m) Z2F 0 0 7,000 A7,000
Oats 1 S2E 2 AH(100m)
23 13,000,000 13,000 14,000 A 1,000
o841 24234 (176m) 13,710 0 13,710
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TTAE 2L BUIKN(ZOH) 72,197 57,757 14,440
201 Yot Y| 49,420 44,980 4,440
02 222 49,420 44,980 4,440
ONBS L MBS &I 23
2 2,600,008 * 122 31,200 26,760 4,440
401 Al HI L 2 THHI 10,000 0 10,000
01 A&l 10,000 0 10,000
ORSpaZgAs S& 24 BA 10,000 0 10,000
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01 A&l 408,300 400,000 8,300
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05 QIZtREL2 2,299 1,815 484
OROAHAIALY 24| A 2,299,000¢ 2,299 1,815 484
405 KHAHE S| 11,709 7,315 4,394
01 RMLSEFEY| 11,709 7,315 4,394
OAR2 2 357,000 * 40K 1,428 0 1,428
oA gz 200,000 * 4H 800 0 800
omg 173,6009 * 1074 1,736 0 1,736
O =2l 430,00024 * 1CH 430 0 430
22ANE L FHRI22A(EEFH) 67,422 66,422 1,000
201 LBt 37,820 36,820 1,000
02 2229 37,820 36,820 1,000
oL Mgz =el+AHE el 1,000 0 1,000
-0 2y 500,0009 * 2% 1,000 0 1,000
=OIHOEA XANL(EFH) 330,000 330,000 0
REY= NYNL(EFH) 330,000 330,000 0
ARD FO=2AAY(EEH) 330,000 330,000 0
401 AlEHI 2 =20HY] 330,000 330,000 0
01 Al&HI 330,000 330,000 0
OJisti==2 83U Ls2 LS AH(194m)
AX 15,849,7802 15,850 15,000 850
OdtttE ALY =2 L& 3 AH35m)
AR 14,699,410 14,700 15,000 A 300
Ool20tS ot & & T AH(32m)
A 4,719,180 4,720 5,000 A 280
OOl =2 AFH B 2= Z2 AH(45m)
AX 13,449,1802 13,450 15,000 A1,550
OEHs2E X 2 Hi =2 F H| 2 AH(129m)
AX 15,999,4402 16,000 20,000 A 4,000
OREAGIAL LY S2EE T AH(114m)
22X 16,539,7402 16,540 20,000 A3,460
OF s 2T F U H 2= 2 F H| 2 Ab(124m)
AR 14,249,4802 14,250 15,000 AT50
OFSsS2E X2 AH(116m) 23X 15,999,280 16,000 15,000 1,000
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